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QID : 101 - Select the related word from the given alternatives.
Lips : Smile:: Eyes : ?

fu e fawedt & @ Wefid Teg &t gu|

3-1"6 IR 3 : ?

Options:
1) Black
Eanll

2) Wink

3) Two

4) Spectacles
IRAT

Correct Answer:  Wink

Candidate Answer: ~ Wink

QID : 102 - Select the related letters from the given alternatives.
EHJ : KNP :: SVX : ?

fau e fawedt & & Haifid srert &1 ghu)

EH] : KNP :: SVX : ?

Options:

1) X2z

2) YBD

3) BDF
4) ZBD

Correct Answer:  YBD
Candidate Answer:  YBD

QID : 103 - Select the related number from the given alternatives.
357:714:: 468 : ?

fau 1t fasedl & & Heifdid we &1 gihw)

357 :714:: 468 : ?

Options:
1) 579
2) 417
3) 936
4) 864

Correct Answer: 936
Candidate Answer: 936

QID : 104 - Select the odd word from the given alternatives.

feu U fawedt & ¥ fawy wreg &1 g
Options:

1) Almond

CIFE

2) Dates

TR
3) Walnut
ITRIE

4) Cashew

Correct Answer:  Dates

YR
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Candidate Answer:  Dates

TR

QID : 105 - Select the odd letters from the given alternatives.
fu e famedt o ¥ faum srert & gl

Options:
1) Xwv
2) RQP
3) HFE

4) MLK
Correct Answer:  HFE
Candidate Answer:  HFE

QID : 106 - Select the odd number from the given alternatives.

fou e faemedt & § faww e &1 gl
Options:
1)23

2) 29
3)37

4) 33
Correct Answer: 33
Candidate Answer: 33

QID : 107 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
Queen, Aqua, Pique, Torque, Antique, ?
T SR foa e B, s Ue weg g 1 fa e fawedt B & a8 Ot fadwew g o oige T &Y I R

Queen, Aqua, Pique, Torque, Antique, ?
Options:

1) Squad

2) Quadrilateral

3) Prerequisite

4) Queue

Correct Answer:  Prerequisite

Candidate Answer: [ NOT ANSWERED ]

QID : 108 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
F,I,M P T?
T S o 7 B, R e ug g 81 U M et B & a8 uet fiwed giie o S H & [ B

F,I,M, P, T?

Options:

1w

2)X

3)Y

47

Correct Answer: W
Candidate Answer: W

QID : 109 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
72, 65.7, ?,53.1, 46.8
T 3rgehd foar man g, o U e g 81 fau U fawedt & ¥ 98 It fade g o Siwy B [T R

72, 65.7,?,53.1, 46.8
Options:
1)59.4
2) 60.4
3)59.3
4)60.3

Correct Answer:  59.4
Candidate Answer:  60.4
QID : 110 - Kavya's birthday is on Tuesday 4th July. On what day of the week will be Anika's Birthday in the same year, if Anika was born on 15th August?

PTT BT TG 4 T, 37 THIAAR $F 81 A 3BT BT 977 15 3R 1 T T, o I aef ST o1 A Twairg & fb fot gwme
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Options:

1) Wednesday
YYaR

2) Friday

RhdR
3) Saturday
HAR

4) Tuesday
HITaR

Cprrect Answer:  Tuesday
HITAAR

Candidate Answer:  Wednesday
qUdR

QID : 111 - The weights of 4 boxes are 70, 100, 20 and 40 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these
boxes?

IR TG BT g5 70, 100, 20 3R 40 T 71 Fufafea 7 3 g & B o Jaem S oo oo, [P & S 1 7€) 8 wwar
Options:
1) 230

2) 190
3) 160

4) 200
Correct Answer: 200
Candidate Answer: 200

QID : 112 - From the given words, select the word which cannot be formed using the letters of the given word.
SYMBOLIC
Fafafed fawedl # ¥ 98 Xeg 9T off 3T 1T Xeg & 31&RT BT TANT Hb ol a1 Sl Gobll:

SYMBOLIC
Options:
1) BASIC
2) SMILY
3) CLIMB
4) COILS

Correct Answer:  BASIC
Candidate Answer:  BASIC

QID : 113 - If HEROISM is coded as SVILRHN , then how will ALP be coded as?

gfe HEROISM &Y it IS H SVILRHN  feraT ST 8, df ALP @1 3t s  am frar wmgeme
Options:
1) LTV

2) 75X
3) SGD

4) ZOK
Correct Answer:  ZOK
Candidate Answer:  ZOK

QID : 114 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
15-5+25+10="7
Pt s U &, '+ BT AT X' 8, - BT GG '+ €, 'x' BT Aqqd '+ § R '+ &1 Adas - ¥ Faffad uy w1 S 82

15-5+25+10="7?
Options:

1) 22

2) -4

3)17

4) 130

Correct Answer: 130
Candidate Answer: 130

QID : 115 - If 23@5=56 ; 6@7=26 ; 5@2=14 ; then what is the value of 7@5="

Tfe 23@5=56 ; 6@7=26 ; 5@2=14 ; Al 7@5 = ? I AH A BIoA |
Options:

1) 26

2) 24

3) 19

4) 52
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Correct Answer: 24
Candidate Answer: 24

QID : 116 - A and B start from the same point. A cycles 10 km South, then turns to her right and cycles 9 km. B cycles 2 km North, then turns West and cycles 15
km, then turns to her left and cycles 12 km. Where is B with respect to A now?

A 3R BT & foig ¥ L& I B 1 A 10 fpamiicR Ror o oiik wrsfea =armdr 8, R ot org oik g5 o § 8iR 9 frainiicR wrsfret amar &1 B 2 fpaiicr I @t
eh?mﬁma;m%,ﬁﬂmmaﬁe«h?gswésﬁ?15%%%%%@%,%@@@@@%%@?12%%%%%% ARG I
3§ B T W T?

Options:

1) 6 km West

6 faraieR ufdm

2) 6 km East

6

3) 24 km West

24 fordiier ufdm

4) 24 km East

24

Correct Answer: 6 km West

6 foramier ufdm

Candidate Answer: 24 km West
24

QID : 117 - the statements to be true even if it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 :  All wheat are grain.
Statement 2 :  Some wheat are flour.

Conclusion I : Some grain are flour.
Conclusion I :  Some flour are wheat.

Y T S Y 8 T § e o € s 18R 11 fAeeTd TR 1 3! A § o S By g § TR 98 IHRId: I1d aadl ¥ s ueitd g 81 smoee! fAufa e
2 31 fou 7 R § ¥ o-T/eH-8 R 0 ¥ S gR1 98! AT S Ihdr 3/9%d 3, afe B8 81

FYF 1 : RIIE AN B
PYT 2 : PO 1 3T B

frpd 1 : 3B oA e B

ey 11 : 5 ST NE B

Options:

1) Only conclusion I follows
IS

2) Only conclusion II follows

Fad ey 11 T8 7

3) Both I and II follow

S e 1 ofR 11 et @

4) Neither I nor II follows

1o s 1 9 § 1 & A 11

Correct Answer:  Both I and II follow

HI ey 1 9k 11 Ot B

Candidate Answer:  Neither I nor II follows

T at freeef 1 9t § 1 € fed 11

QID : 118 - In the following question, by using which mathematical operators will the expression become correct?

27?97187?247?12

frafafad uy & o 7 el & @ fo nitrdta wfarel o wain e oo mar gfiesu gl 81 s

27?797?718724?12

Options:

1)+, +,=and +

T+, =AU+

2) +, %, <and +

=, X, < AUl +

3)+,x,>and +

-, X, > Ul +

4) 4+, +, =and +

+, =, = dUl +

Correct Answer:  +, x, > and +
+, X, > Yl +

Candidate Answer:  +, x, < and +
=, X, < AUl +
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QID : 119 - In the following question, select the related word from the given alternatives.
Umbrella : Rain : : Sweater : ?

Frafared vy & fir Te el # 9 Taifta st &1 gT

BT 99 : @R : ?

Options:
1) Wool

9

ds
Correct Answer:  Cold

08
Candidate Answer:  Cold

)

QID : 120 - In the following question, select the odd letters from the given alternatives.

o uy & fou 7u fawedl 8§ ¥ fawm oreri &1 gful
Options:
1) IMOR

2) ORIL
3) UXCF

4) ADWZ
Correct Answer:  IMOR
Candidate Answer:  IMOR

QID : 121 - In the following question, select the odd number pair from the given alternatives.

frafafed uy # fau e fiwedl & 4 faww dem g &1 gl
Options:

1) 1444 - 37

2) 2809 - 54

3) 2209 - 46

4) 6084 - 77
Correct Answer: 2809 — 54
Candidate Answer: [ NOT ANSWERED ]

QID : 122 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Clamp
2. Cloud
3. Cable
4. Cannal
5. Capricon

fafRad <Ieal @ Usad I F 3 a1 HH & TR ford |
1. Clamp
2. Cloud
3. Cable

4. Cannal
5. Capricon

Options:
1) 35412
2) 34512
3) 43512

4) 45312
Correct Answer: 34512
Candidate Answer: 34512

QID : 123 - In the following question, select the missing number from the given series.
28, 30, 36, 48, ?, 98, 140
fafafad uy & iU T fawedl & 9 g of J1d Siforg|

28, 30, 36, 48, ?, 98, 140
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Options:

1) 68

2) 65

3)72

4) 67

Correct Answer: 68

Candidate Answer: [ NOT ANSWERED ]

QID:124 -If19+2x2+3=369 and23+2Xx6+2=>565 ,then
7+3x11+3="?
Y19 +2x2+3=369 TU23 +2x6+2="565 gl al

7+3x11+3=7
Options:

1) 1674

2) 1382

3) 1268

4) 1496

Correct Answer: 1674

Candidate Answer: [ NOT ANSWERED ]

QID : 125 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
a_caab_a_bcaab_a_b_a
o uy & SRt o1 P I THg WTel RAFT TR HHIR I 9 T TS 3R SRl S T H?

a_caab_a_bcaab_a_b_a
Options:

1) cbacba

2) bcacac

3) acbaca

4) bbacaa

Correct Answer:  bcacac

Candidate Answer:  bcacac

QID : 126 - For a price taking firm, average revenue is market price.

PHd-WIoRS BH B ad YU SR BIHd BRI
Options:

1) half of

q ameft

2) equal to

P R

3) double of

4) less than

IHH

Correct Answer:  equal to

P TR

Candidate Answer: less than
IFHH

QID : 127 - The study of individual markets of demand and supply in which the 'players’, or the decision makers, were also individuals (buyers or sellers, even
companies) who were seen as trying to maximize their profits (as producers or sellers) and their personal satisfaction or welfare levels (as consumers) is called?

T 3R Yt & Sl SIoIRY o1 sreg o e yftrest M arar a1 fofgsdl of @fdd 81 § (Tdier a1 fagsar sufwa off), S sre andl &t sifrea e
DI B § (S IAIGH T o) 3R I7! AR GBS AT B0 BT TR (STHEAIST &b =0 H) F7 Healrdl 22
Options:
1) Macroeconomics
TP srefme
2) Econometrics
srfffa
3) Microeconomics
A e
4) HeEerodox Economics
3

Correct Answer:  Microeconomics

M SRR
Candidate Answer: [ NOT ANSWERED ]

QID : 128 - In which year was Nationalist Congress Party (NCP) founded?

AT B Ut (T Bt RITe fopw Y A g2
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Options:
1) 1949

2) 1999
3) 1972

4) 1997
Correct Answer: 1999
Candidate Answer: 1997

QID : 129 - Which Fundamental Right in the Indian Constitution states that every person has the right to practice, profess and propagate the religion of their
choice.

YR Wy & g M iR & o8l 01 § &1 U cafad & 30 33T BT 4 3T, IYBT TIR-UHR B BT fABR 82
Options:

1) Right to Equality

JHACT BT

2) Right to Freedom

ESRERICAREIREIN

3) Right against Exploitation

TN & v SiYaR

4) Right to Freedom of Religion
ESREGICARIDEIN

Correct Answer:  Right to Freedom of Religion
ESEEG|EA

Candidate Answer:  Right to Freedom

RERERIED]

QID : 130 -1In 1917, Mahatma Gandhi organised a satyagraha to support the peasants of the Kheda district of

1917 ¥ HgTel et 7 & Qe foral & foral &1 Hag & fofT Tmg &1 Sl fohdT|
Options:
1) Bihar

2) Karnataka
FHlcd
3) Gujarat

4) West Bengal
LPIEEET G
Correct Answer:  Gujarat

Candidate Answer:  Gujarat

QID : 131 - Which queen of the Kakatiya dynasty ruled over Warangal, part of modern Andhra Pradesh?

YD ST H HIhedrd 91 B o I A TRATeT &3 W = fobar?
Options:
1) Rudramadevi

2) Ahilyadevi
Sffgeanedt

3) Bhagwati
YFTaat

4) Bhanumati

Correct Answer:  Rudramadevi

Candidate Answer: [ NOT ANSWERED ]

QID : 132 - On the basis of distribution, resources can be classified into ?

T & fAaRT & SR W) Tiiferd 8 U g1

Options:

1) Actual resources

CIRSICEARIKE]

2) Potential resources

BRIEIEIE]

3) Ubiquitous resources
BRI

4) Abiotic resources

NG T

Correct Answer:  Ubiquitous resources
BRI

Candidate Answer:  Actual resources
1A
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QID : 133 - Uranium found in Ladakh is an example of which type of resource?

TER B U 9 aTe AW 59 T &7 TS SETER0I 82
Options:
1) unnatural resources
BRICES

2) Actual resources

REINE]
3) Potential resources
T =T
4) Biotic resources
EERIE]

Correct Answer:  Potential resources
T =T

Candidate Answer:  Biotic resources
EERRINE]

QID : 134 - Which is the longest bone in human body?
T & IR F T Tl g5 A 4l 7
Options:

1) febula

2) Tibia

fedtan

3) Stapes

wfre

4) Femur

Correct Answer:  Femur

Candidate Answer: [ NOT ANSWERED ]

QID : 135 - Opposite the micropylar end, is the , representing the basal part of the ovule.

divisg™ RR & de fAwda BT 2, S Sl & YR YT &7 ufafed Bl g
Options:

1) hilum

BT

2) fyni;le

3) chalaza

thio
4) nucellus

Correct Answer:  chalaza
Ay

Canqidgte Answer:  funicle

QID : 136 - In unicellular organisms, all functions like digestion, respiration and reproduction are performed by a how many cell(s)?

THd IRyt § e B G e fharg S - urer, 49 3R S fba! Sifkiepi(ail) grT fbu o 82
(1))pt1ions:

2)2

3)3

4) 4
Correct Answer: 1
Candidate Answer: 4

QID : 137 - Reflection from a smooth surface like that of a mirror is called reflection.

30 S e gy 9 819 a1 WRiad &t TR Ped Bl
Options:
1) regular

2) irregular

3) diffused

foafea

4) fused

Fiferd

Correct Answer:  regular

Candidate Answer: [ NOT ANSWERED ]
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QID : 138 - What is the unit of resistance?

URRIY BT WA B 3B T 82

Correct Answer:  ohm

Candidate Answer:  ohm

QID : 139 - Which of the following is not among the three different forms of 'if' statement?

fFafifed & ¥ &1 91 if $YT P dF -3 TR H J T a1 87
Options:
1) if...

2) if...else
3) if...and

4) if...else if...else
Correct Answer: if...and
Candidate Answer: if...and

QID : 140 - PET is a very familiar form of . It is used for making bottles.

e (W5 UF S5 QURRIG PR BT 71 3HHT ITANT Siddt 591 3 e faam St 21
Options:

1) Nylon

BIENIE]

2) Acrylic

3) Polyester

4) Rayon

[

Correct Answer:  Polyester

Candidate Answer:  Acrylic

QID : 141 - Which of the following gases is heavier than oxygen?

Frofefed o ¥ o1 O 19 iRl 3y 8l 82
Options:

1) Carbon gioxide

Pl SR ATHSS

2) Ammonia
3) Methane
=

4) Helium

Correct Answer:  Carbon dioxide
SRS

Candidate Answer:  Carbon dioxide

PleT SLAES

QID : 142 - In India, the Air (Prevention and Control of Pollution) Act came into force in 1981, but was amended in to include noise as an air pollutant.

URA § IRg Uguul Ry wd Faor sififm 1981 H @y geft, dfas sad T WM o) %R D1 1Y UG & =Y & Fieferd fvam |
Options:
1) 1987

2) 1997
3) 2007

4) 2017
Correct Answer: 1987
Candidate Answer: 2007
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QID : 143 - In April 2017, Prime Minister Narendra Modi inaugurated phase-I (Link-2) pipeline canal of the ambitious Saurashtra Narmada Avtaran Irrigation
(SAUNTI) in which state?

et 2017 H, T HAY TR FIt A forw o § mgarap el SRy Fefar sraaRur s (THUEEASS) $Y ursuars TeR & UuH R (Riw-2) &1 Sgured fHar
Options:

1) Rajasthan

RERIIC]

2) Uttar Pradesh

I U™

3) Gujarat

4) Madhya Pradesh
T UG

Correct Answer:  Gujarat

Candidate Answer:  Rajasthan
RERIE]

QID : 144 - Who invented the vacuum pump?

fafa vu &1 snfaseR fare fmar?
Options:

1) Otto von Guericke

TS A M

2) Cai Lun

I g

3) Melitta Bentz

Teftel ot

4) William Henry Fox Talbot
faferom 38 wiew Serae

Correct Answer:  Otto von Guericke
3ffel aF NP

Candidate Answer:  Melitta Bentz

QID : 145 - Who was the winner of 2017 Australian Grand Prix?

2017 3o UTs Wiew o1 s 1 U1
Options:
1) Sebastian Vettel

2) Lewis Hamilton
3) Valtteri Bottas

et I
4) Kimi Raikkonen

Correct Answer:  Sebastian Vettel

Candidate Answer: [ NOT ANSWERED ]

QID : 146 - Sanchi Stupa was built by?
et 1 IqU 1wt feem faan ur

Options:

1) Akbar
.CN

2) Humayun

g
3) Ashoka
SMNH

4) Narasimha
Correct Answer:  Ashoka

Can(_jidateAnswer: Narasimha

QID : 147 - Who won the Best Actress in a Leading Role in 62nd Filmfare Awards 2017?

5 g Wit & forw aday et & e 62 ot freTtR GRXR 2017 firer 82
Options:

1) Priyanka Chopra

e digsT

2) Deepika Padukone

3) Alia Bhatt

e Wg
4) Katrina Kaif
FHHT Fw
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Correct Answer:  Alia Bhatt
aitferan g
Candidate Answer: [ NOT ANSWERED ]

QID : 148 - A] The author of the novel 'The Grapes of Wrath' is Ayn Rand.
B] The author of the novel 'The Fountainhead' is John Steinbeck.

C] The author of the novel 'Ancillary Justice' is Ann Leckie.

Which of the statements given above are not correct?

3] U " IS 3T YY" F AAH T S B |

9] ST 'S BIECARS" & AGH G R gl
] ITUN TR SR & oed U Al B

mﬁﬁaﬁqﬁawva"r?é%?

Options:
1)Aand B
A IART
2)Band C
R ¥
3)Aand C
3 AR
4)A,Band C
¥, FARY

Correct Answer: A and B
3R

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - In which city was Ariana Grande performing in when her concert was hit by a terrorist attack in May 2017?

g 2017 H TRIMT 713 1 Uex 5 Wex & 9 6T U, 99 IS GHid SrRSH W AdHard! gHar g ur
Options:
1) Manchester

2) Birmingham

Sftfay

3) Liverpool

4) London

KER

Correct Answer:  Manchester

Candidate Answer: [ NOT ANSWERED ]

QID : 150 - The Indian State of Sikkim does not share a border with which neighbouring country?

YR o0 Rifdepy forg =1 & 1y ot Fer &1 | g Hrar?
Options:

1) Nepal

BLIG

2) Bangladesh

AR

3) Bhutan

4) China

CiE|

Correct Answer:  Bangladesh

Candidate Answer:  China

QID : 151 - What is the remainder when 6910 is divided by 81?

& 6910 B 81 FRT AU faham ST B, 99 Hafiy o ghar 82
Options:

1) 25

2)23

3)21

4) 19

Correct Answer: 25

Candidate Answer: 25

QID : 152 - A can do 75% of a job in 18 days and B can do 25% of the job in 12 days. If they work on it together, in how many days can they do 75% of the job?

gﬂ?aﬂnmﬁ%, 18 T3 & Q1 % W1 § 3R B U BT BT 25%, 12 31 & q1 &R Tl §1 IS 3 U W1y FATHR HTH I § O B BT 75% B § e 37
?

Options:

1) 16

2)8

3)20

4) 12

Correct Answer: 12
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Candidate Answer: 12

QID : 153 - Area of 4 walls of a cuboid is 57 sq m, if its length is 5.5 m and height is 3 m. What is its breadth (in m)?

TP AHAhaD! B! ORI IR BT &Thd 816 T Hiex &1 3qP! 7T 18 Hiex iR FaTS 12 Mex 71 3TP! AsT (Hiex H) |1 82
Options:

1) 45

2)4

3)3

4)35

Correct Answer: 4

Candidate Answer: 4

QID : 154 - At 30% discount the selling price of an article is Rs 1050. What is the selling price (in Rs) if the discount is 15%?

30% @< W UH a%] H fawh! G 1050 ¥ 81 Al Be 15% B O fop) g (% &) |2
Options:
1) 1200
2) 1175
3) 1100
4) 1275

Correct Answer: 1275
Candidate Answer: 1275

QID : 155 - What is the fourth proportional to 336, 288 and 161?
336, 288 3R 161 HT AGUIIIIID T 82

Options:

1) 184

2) 115

3) 138

4) 134

Correct Answer: 138
Candidate Answer: 138

QID : 156 - What is the average of all numbers between 9 and 90 which are divisible by 8?

9 3R 90 F ofta Tt Tremai T 3N T & ST 8 U B2
Options:

1)53

2)52

3)51

4) 50

Correct Answer: 52

Candidate Answer: 52

QID : 157 - A trader had 630 kgs of rice. He sold a part of it at 15% profit and the rest at 8% profit, so that he made a total profit of 12%. How much rice (in kgs)
did he sell at 8% profit?

TH AR & U 630 fHaum arad 3| 3T SUHT U FRT 15% Y 3R a1t B 8% Y & A1y 37 fa, a1 I ot 12% 1 GATHT 811 I 8% a1y W faraan
rad (feenum o) I=m

Options:

1) 270

2) 300

3) 280

4) 290

Correct Answer: 270

Candidate Answer: 270

QID : 158 - 50% of a = b, then b% of 40 is the same as of a.

a®150% = b &, dl 40 BT b%, a HT T BT
Options:

1) 0.25

2)0.16

3)2

4)0.2

Correct Answer: 0.2

Candidate Answer: 2

QID : 159 - Excluding stoppages, the speed of a train is 120 kmph and including stoppages, it is 50 kmph. For how many minutes does the train stop per hour?

I A R B BISHR, T BT Md 120 fHaieR Ufd e § 3R I ard WIF |fed, T8 50 fhdiHies ufd el 31 2 yde °e fhar e & forg Tadt 82
Options:

1325

2) 40

3)35

4)20

Correct Answer: 35
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Candidate Answer: 25

QID : 160 - The simple and compound interest that can be earned in two years at the same rate is Rs 4000 and Rs 4180 respectively. What is the rate (percent per
annum) of interest?

3 o F T TR W T & b aTe WURYT SR Ihqia ST HHT: 4000 T 3R 4180 T T ST R (% Wl I¥) fpeit 82
Options:

1)18

2) 4.5

3)9

4)12

Correct Answer: 9

Candidate Answer: 9

QID : 161 - If 2x/3 - [5(4x/5 - 4/3)]/2 = 1/3, then what is the value of x?

e 2x/3 - [5(4x/5 - 4/3)1/2 = 1/3 B, T x FT T 1 82
Options:

1)9/4

2) 4/9

3)-9/4

4) -4/9

Correct Answer:  9/4

Candidate Answer:  -9/4

QID: 162 -Ifa3 + b3 =28and a + b = 4, then what is the value of ab?

g a3 + b3 =28 3R a + b = 48, A ab FT AF FT §?
Options:

1)-3

2)2

3)8

4)3

Correct Answer: 3

Candidate Answer: 3

QID : 163 - 6 times a fraction is greater than 7 times its reciprocal by 11. What is the fraction?

T U T 6 0T 39 AT F FepH P T1d UM W 11 §ST 81 I8 AT 71 82
Options:

1) 5/3

2)7/3

3)5/4

4) 4/5

Correct Answer: 7/3

Candidate Answer:  7/3

QID : 164 - What is the sum of the first 11 terms of an arithmetic progression if the first term is -31 and last term is 29?

FHiaR 91Ul % UEA 11 UST BT T 941 § IS UBHl UT -31 § 3IR Sifaw ug 29 32
Options:

1) 42

2)-11

3)28

4)12

Correct Answer:  -11

Candidate Answer: [ NOT ANSWERED ]

QID : 165 - What is the reflection of the point (-1 , 5) in the line x = 1?

@M x = 1 W g (-1, 5) &1 vfafss @ 82
Options:

1) (3,-5)

2)(-3,-5)

3)3,5)

4)(-3,5)

Correct Answer: (3, 5)

Candidate Answer: (3, -5)

QID : 166 - What are the co-ordinates of the centroid of a triangle, whose vertices are A(1, -5), B(-4, 0) and C(3, -4)?

e & Suw & M T 8, BB B AL, -5), B(-4, 0) 3R C(3, -4) B2
Options:

1) (0, 3)

2)(0,-3)

3)(0,-5)

4)(0,5)

Correct Answer: (0, -3)
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Candidate Answer: [ NOT ANSWERED ]

QID : 167 - Slope of the line AB is 4/3. Co-ordinates of points A and B are (x , -5) and (2, -3) respectively. What is the value of x?

T AB BT 3@ 4/3 B faigaft A 3R B & =i HHR: (x, -5) 3R (2, -3) §1 x HT AF FT 82
Options:

1) 1/2

2)-1/4

3)4

4) -4

Correct Answer:  1/2

Candidate Answer: [ NOT ANSWERED ]

QID : 168 - D and E are points on side AB and AC of AABC. DE is parallel to BC. If AD:DB = 1:4 and area of AADE is 6 sq cm, what is the ratio of area of AADE:
area of quadrilateral BDEC?

AABC @t YoTiaif AB 3R AC TR D iR E g &1 DE, BC % JHicR 1 Af AD:DB = 1:4 3R AADE &1 &% d 6 37 9.5, 8, I AADE & &t IguS BDEC ¥ 8% d I
SFUTE T 82

Options:

1) 1:12

2) 1:6

3) 1:16

4)1:24

Correct Answer: 1:24

Candidate Answer:  1:6

QID : 169 - What is the value of 1/v2 Cot 30° + 1/V3 Cosec 60°?

1/v/2 Cot 30° + 1/v/3 Cosec 60° &1 TH T §?
Options:

1) (3V3 + 2v2)/3v2

2) (3v3 - 2v2)/3v2

3) (3V3 + 2V2)/V2

4) (3V3 - 2v2)/V2

Correct Answer:  (3V3 + 2v2)/3V2
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - A ABC is right angled at B. If mzA = 60°, then what is the value of 2 Sec C x 1/2 Sin A?

A ABC B TR IH®IU 81 A m2A = 60° §, T 2 Sec C x 1/2 Sin A T T T §RTI?
Options:

1) 1/2

2)1/3

3)1

4) 1/V2

Correct Answer: 1

Candidate Answer:  1/2

QID : 171 -If Tan 8 = 7/24, then what is the value of Cosec 8?

& Tan 6 = 7/24 8, A Cosec 6 HT A T §?
Options:

1) 25/24

2)25/7

3) 24/7

4) 24/25

Correct Answer:  25/7

Candidate Answer:  25/7

QID : 172 - If 27N4 is divisible by 11, then what is the value of N?

I 27N4, 11 F f3vird S 8, A N &1 I FT 82
Options:

1)2

2)7

3)9

4)6

Correct Answer: 9

Candidate Answer: 9

QID : 173 - A watch having marked price as Rs 8400 is sold for Rs 5040 after two successive discounts. If the first discount is 25% then what is the second
discount percentage?

T TS} T 3ifdhd Hed 8400 %. B, 3l it e & d1g 5040 . § SN Sl &1 A Ul Fe 25 UiARid B €, o GO ge fban ufdwd B 82
Options:

1) 0.15

2)0.2

3)0.25

4)03
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Correct Answer: 0.2
Candidate Answer: 0.2

QID:174 -IfP:Q:R=2:3:5, then whatis the valueof (P + Q) : (Q +R) : (R + P)?

gRP:Q:R=2:3:58, (P +Q):(Q+R): (R+P) B AN T8?
Options:

1) 5:8:7

2)2:3:5

3) 5:8:10

4) 4:9:25

Correct Answer:  5:8:7

Candidate Answer:  5:8:7

QID : 175 - Average age of 20 students is 21 years. 2 students leave the group and 1 new student joins the group. The average now becomes 20 years. If age of
one of the student who left the group is 26 years and the one who joined is 20 years, then what is the age (in years) of the other student who left the group?

20 BE} B 3T Mg 21 99 B1 2 B JUE SISHR STa! offd & 4T 1 7197 BT T & 9IS ol 31 3N 3@ 20 T 8 St 31 Al BlShR oI arel H I T BH Bl 31
26 99 B U1 S U THE I ST § IS 31 20 a9 B, O TG SIS I G B P 1Y (TN F) 1 32

Options:

1)20

2) 14

3)22

4) 16

Correct Answer: 14

Candidate Answer: 20

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Not too long then, the (1) / lodge was the only (2) / place to stay here. (3)/No Error (4)
Options:

11

2)2

3)3

4) 4

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He was able to put (1) / pen of paper only (2) / much later. (3) /No Error (4)
Options:

11

2)2

3)3

4) 4

Correct Answer: 2

Candidate Answer: 2

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I sensed the of the argument.
Options:

1) beautiful

2) beautifully

3) beauty

4) beautification

Correct Answer:  beauty

Candidate Answer: [ NOT ANSWERED ]

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The beans are turned to avoid burning.
Options:

1) constant

2) constants

3) constantly

4) constantedly

Correct Answer:  constantly
Candidate Answer: [ NOT ANSWERED ]

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Drivel
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Options:

1) Intelligent

2) Blather

3) Judicious

4) Sane

Correct Answer:  Blather

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Perseverance

Options:

1) Endurance

2) Cowardice

3) Lethargy

4) Indolence

Correct Answer:  Endurance

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Hazardous

Options:

1) Perilous

2) Precarious

3) Dicey

4) Secure

Correct Answer:  Secure

Candidate Answer: [ NOT ANSWERED ]

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Advocacy

Options:

1) Discouragement

2) Advancement

3) Assistance

4) Backing

Correct Answer:  Discouragement
Candidate Answer: [ NOT ANSWERED ]

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Put one's foot down

Options:

1) Give up easily without a fight

2) Learn to dance inspite of being clumsy

3) Adopt a firm policy when faced with opposition or disobedience

4) Take the first step of a very long difficult journey

Correct Answer:  Adopt a firm policy when faced with opposition or disobedience
Candidate Answer: [ NOT ANSWERED ]

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Whistle in the dark

Options:

1) Pretend to be unafraid

2) A ray of hope in the worst of times

3) See a ghost while dreaming

4) Be blind and fall into a trap

Correct Answer:  Pretend to be unafraid

Candidate Answer: [ NOT ANSWERED ]

QID : 186 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

I (am always wondered)  what it would be like to be inside a chocolate factory.
Options:

1) have always wonder

2) have always wondering

3) have always wondered

4) No improvement

Correct Answer:  have always wondered

Candidate Answer: [ NOT ANSWERED ]

QID : 187 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

They loaded their ships with spices and silks and (returns) with the summer monsoon.
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Options:

1) returned

2) return

3) returning

4) No improvement
Correct Answer:  returned

Candidate Answer:  return

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Diminish in value over a period of time
Options:

1) Escalate

2) Augment

3) Aggrandise

4) Depreciate

Correct Answer:  Depreciate

Candidate Answer: [ NOT ANSWERED ]

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Not able to produce children
Options:

1) Gravid

2) Hebetic

3) Fecund

4) Sterile

Correct Answer:  Sterile

Candidate Answer: [ NOT ANSWERED ]

QID : 190 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) loopholes

2) lupholes

3) looppholes

4) luppholes

Correct Answer:  loopholes

Candidate Answer: [ NOT ANSWERED ]

QID : 191 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) wherefor

2) wharefore

3) wharefor

4) wherefore

Correct Answer:  wherefore
Candidate Answer:  wherefor

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

He does not mean

X-when he denies that it is causal

Y-to indicate that the relation

Z-is any the less uniform or dependable
Options:

1) YXZ

2) YZX

3) Xzy

4) XYZ

Correct Answer:  YZX

Candidate Answer: [ NOT ANSWERED ]

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Not only people have buying

X-environment and health

Y-capacity in the city, people here are
Z-also quite concerned about
Options:

1) YXZ

2) YZX

3) Xzy

4) XYZ

Correct Answer:  YZX

Candidate Answer: [ NOT ANSWERED ]
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QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The director will give you instructions.

Options:

1) Instructions shall be given to you by the director.
2) You will get instructions from the director.

3) You shall get instructions from the director.

4) Instructions will be given to you by the director.

Correct Answer:  Instructions will be given to you by the director.
Candidate Answer:  Instructions will be given to you by the director.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

"What makes you so sad?" she asked Manoj.
Options:

1) She asked Manoj what makes him so sad.
2) She asks Manoj what made him so sad.
3) She asked Manoj what made him so sad.
4) She asks Manoj what makes him so sad.

Correct Answer:  She asked Manoj what made him so sad.
Candidate Answer:  She asked Manoj what makes him so sad.

QID : 196 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

The quest to find life outside the solar system got a big boost with the discovery of seven Earth-size extra-solar planets, or exoplanets, orbiting a dwarf star about 40
light years away. Unlike earlier discoveries of exoplanets, all seven planets could possibly have liquid water — a key to life as we know it on Earth — with three
planets having the greatest chance. This is by far the largest collection of Earth-like planets in the habitable 'Goldilocks' zone of a star — neither too close nor too far
from a star, which raises the possibility of liquid water being present on the surface. Only Earth has liquid water in the solar system. Since the dwarf star is much
cooler than the Sun, the dimming of light each time a planet passes or transits before the star could be easily recorded from Earth unlike in cases when planets
transit a Sun-like bright star. Since the initial discovery of three planets was made using the Chile-based Transiting Planets and Planetesimals Small Telescope, the
exoplanet system is called TRAPPIST-1.

The telescope TRAPPIST is in which country?
Options:

1) Venezuela

2) Argentina

3) Chile

4) Mexico

Correct Answer:  Chile

Candidate Answer: [ NOT ANSWERED ]

QID : 197 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

The quest to find life outside the solar system got a big boost with the discovery of seven Earth-size extra-solar planets, or exoplanets, orbiting a dwarf star about 40
light years away. Unlike earlier discoveries of exoplanets, all seven planets could possibly have liquid water — a key to life as we know it on Earth — with three
planets having the greatest chance. This is by far the largest collection of Earth-like planets in the habitable 'Goldilocks' zone of a star — neither too close nor too far
from a star, which raises the possibility of liquid water being present on the surface. Only Earth has liquid water in the solar system. Since the dwarf star is much
cooler than the Sun, the dimming of light each time a planet passes or transits before the star could be easily recorded from Earth unlike in cases when planets
transit a Sun-like bright star. Since the initial discovery of three planets was made using the Chile-based Transiting Planets and Planetesimals Small Telescope, the
exoplanet system is called TRAPPIST-1.

What is essential to have the possibility of life on a planet?
Options:

1) Presence of atmosphere

2) Presence of gravity

3) Presence of sunlight

4) Presence of liquid water

Correct Answer:  Presence of liquid water
Candidate Answer:  Presence of liquid water

QID : 198 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

The quest to find life outside the solar system got a big boost with the discovery of seven Earth-size extra-solar planets, or exoplanets, orbiting a dwarf star about 40
light years away. Unlike earlier discoveries of exoplanets, all seven planets could possibly have liquid water — a key to life as we know it on Earth — with three
planets having the greatest chance. This is by far the largest collection of Earth-like planets in the habitable 'Goldilocks' zone of a star — neither too close nor too far
from a star, which raises the possibility of liquid water being present on the surface. Only Earth has liquid water in the solar system. Since the dwarf star is much
cooler than the Sun, the dimming of light each time a planet passes or transits before the star could be easily recorded from Earth unlike in cases when planets
transit a Sun-like bright star. Since the initial discovery of three planets was made using the Chile-based Transiting Planets and Planetesimals Small Telescope, the
exoplanet system is called TRAPPIST-1.

What is the 'Goldilocks' zone?

Options:

1) It is a mythological place about stars and planets

2) That place on a planet which has lowest possibility of liquid water.

3) The correct distance of a planet from its star to have possibility of having liquid water

4) That place on a planet which has the right amount of sunlight

Correct Answer:  The correct distance of a planet from its star to have possibility of having liquid water

Candidate Answer: [ NOT ANSWERED ]
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QID : 199 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

The quest to find life outside the solar system got a big boost with the discovery of seven Earth-size extra-solar planets, or exoplanets, orbiting a dwarf star about 40
light years away. Unlike earlier discoveries of exoplanets, all seven planets could possibly have liquid water — a key to life as we know it on Earth — with three
planets having the greatest chance. This is by far the largest collection of Earth-like planets in the habitable 'Goldilocks' zone of a star — neither too close nor too far
from a star, which raises the possibility of liquid water being present on the surface. Only Earth has liquid water in the solar system. Since the dwarf star is much
cooler than the Sun, the dimming of light each time a planet passes or transits before the star could be easily recorded from Earth unlike in cases when planets
transit a Sun-like bright star. Since the initial discovery of three planets was made using the Chile-based Transiting Planets and Planetesimals Small Telescope, the
exoplanet system is called TRAPPIST-1.

What made it easier to record the passage of the planet in front of the star?
Options:

1) The fact that the star is much smaller and cooler than our Sun

2) The fact that the star is much bigger and cooler than our Sun

3) The fact that the star is much smaller and hotter than our Sun

4) The fact that the star is much bigger and hotter than our Sun

Correct Answer:  The fact that the star is much smaller and cooler than our Sun
Candidate Answer: [ NOT ANSWERED ]

QID : 200 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

The quest to find life outside the solar system got a big boost with the discovery of seven Earth-size extra-solar planets, or exoplanets, orbiting a dwarf star about 40
light years away. Unlike earlier discoveries of exoplanets, all seven planets could possibly have liquid water — a key to life as we know it on Earth — with three
planets having the greatest chance. This is by far the largest collection of Earth-like planets in the habitable 'Goldilocks' zone of a star — neither too close nor too far
from a star, which raises the possibility of liquid water being present on the surface. Only Earth has liquid water in the solar system. Since the dwarf star is much
cooler than the Sun, the dimming of light each time a planet passes or transits before the star could be easily recorded from Earth unlike in cases when planets
transit a Sun-like bright star. Since the initial discovery of three planets was made using the Chile-based Transiting Planets and Planetesimals Small Telescope, the
exoplanet system is called TRAPPIST-1.

How many planets in our solar system have liquid water?
Options:

1) Two

2) Three

3) One

4) Four

Correct Answer:  One

Candidate Answer:  One





